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L.O T can answer arithmetic questions accurately and at speed.
Year 3 Year 4

How many minutes in 3 hours? 4589 to the nearest 10?
217 + 956 = 8956 to the nearest 100?
869 - 311 = 3056 to the nearest 1000?
78 x 8 = 8856 - 3259 =

7 x11= 458 x 4 =

__ +96=248 8x93=

897 -____ =109 ___ +105=990
__x10=300 5689 - =4567
£590 +£3.69 = One third of 99?

20 x 50 = One fifth of 50?

234+ ____ =785 Three quarters of 360?
___x7=3b 180 divided by 9?

One third of 60?
One half of 56?

4568 + _ =9874
35x10-=
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L.O T can answer arithmetic questions accurately and at speed.

Year 3

Year 4

How many minutes in 3 hours?180 4589 to the nearest 10? 4590

217 + 956 =1173
869 - 311 =558

78 x 8 =624

7 x 11 =77

152 + 96 = 248

897 - 788 = 109

30 x 10 = 300
£5.90 + £3.69 =£9.59
20 x 50 = 1000

234 + 551 =785
5x7=35

One third of 60220
One half of 56228

8956 to the nearest 10079000
3056 to the nearest 1000?3000
8856 - 3259 =5597

458 x 4 =1832

8 x 93 =744

885 + 105= 990

5689 - 1122 = 4567

One third of 99?33

One fifth of 50?10

Three quarters of 360?270
180 divided by 9? 20

4568 + 5306= 9874
35x10=35
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